
  

  

8360 

M8 x 30 DIN7991 
Ø22 x tl.6 

HONDA CB 1000R 
11 - 17 

Part Nr.  744 
 

M6 x 25 DIN7380 
Ø12 x tl.5 

872 

890 

M8 x 40 DIN7984 

between 744D a 744R 

 Ø22 x tl.26 
 

744D 

M6 x 35 DIN7380 
Ø 12 x tl.5 

M6 DIN985 

Chart Nr.II 

818.185mm 

M6 x 25 DIN7984 

M8 x 20 DIN7991 

M8 x 30 DIN6921 
807 

M8 x 50 DIN6921 
807 

M6 x 8 DIN7380 

BRAKE HOSE 20°/ 220mm / 20° 

813RA 813LA 

M6 x 45 DIN7380 
817 + Ø12 x tl.20 

M6 DIN985 
 

 

Chart Nr.III 

810S 2x M6 x 12 

DIN7991 
 



 

M8 x 50 DIN6921 

Ø22 x tl. 12 
 

 

HONDA CB 1000R 
11 - 17 

Chart Nr.  III 
 

HONDA CB 1000R 
11 - 17 

Chart Nr. II 
 

S0302 
 

810S 

2x M6 x 12 DIN7991 
 

M6 x 16 DIN7380 

816R 
 

 

20mm 

 BD11 

BENT 

ABS BLOCK 

M6 x 25 DIN912 2 x M6 DIN9021 

M10x1,25 double screw HEL 

3x copper washer HEL 


